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“ Question 1: For this question use the graph of y = f(x) below:
5 y

|

(a)[2] What is (f o )(2)?
) = 50 = 1)

(b)[1] State the domain of f(x) using interval notation.
[-3,4]
(c)[1] State the range of f(x) using interval notation.
L) 3)

(d)[2] Determine limlf(x).
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(e)[2] Determine lim f(x).
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b oo =735 G S0)=
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So lim $ox) (loey wait exist )
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(2] Whatis lim f(x)?
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‘ Question 2: For this question use the functions f(x) = and g(x) = vx — 3.

X —

(a)[3] Determine (f — g)(x) and state the domain using interval notation.
) = -
‘ Gl-—j)(x) = v JX=3 .
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(b)[3] Determine (f o g)(x) and state the domain using interval notation.

fe3)(x) = :
1) Jx=3"—1

| For olewrowns | must howe k330 A3 # |
= 9(?1'3) ~ =Y

2 L[%H) U (e p20) )

(c)[4] Compute and simplify the difference quotient Flxct h;) — f(x).
Flxeh) =F0) {: f _
~ N K +h-| X~
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Question 3: Evaluate the following limits, if they exist:
" u

x2 +4x —21 o
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Question 4: Evaluate the following limits, if they exist:
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Question 5:
Ui
/\/

(a)[3] Evaluate the following limit if it exists: lim —— (2x)

L d
x—0 sin (7x) cos (3x) o

o) S-I‘M ( ) S ~ (va\ G\.V\ (Q.y 7} l ax
X—0 . — - A
os - -
Siu(F=) cos (3x) xXo 2 x (S‘\m(?-x) 7x,co;éy
7Fx
= a
7
(b)[3] Evaluate the following limit if it exists: im Si“4(;9)

(enm Sin (290) _ (/V'w Stu(2&) ( o
60  Het G -0 2o ) 2e | ©

L/va\:'(' L oes \A«o'f- eK":ST.

(H)[4] Suppose g(x) is a function with the property that —2 < g(x) < 3 for every real number x. Determine
C Iimox4g(x). (State any theorems used, like the the Squeeze Theorem, for example, and be sure to state
X

the conditions necessary to justify use of the theorem.)

—2420:) <3 ) Y —ax! & qucx) N ?%L(
5 e o —ax? = 0 = e 2%
X=20 | X=>0 ‘
by he Spege Theaen, i ofgen =o.
x>0
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